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Instructions : All questions arc compulsory.
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What do you understand by Normal Object?

e 3 S T o e £ .
What is called Very Short-term Market?

Uyd-3 W Ui IR R wed €2 ()
What is called Gross Domestic Product?

-4 W e (1}
What is ‘Stock’?

wWA-5 W s e FR-mAs I F@ g ? : (1]

Which bank issues currency notes in India?
-6 W@ R e ? (1]
What is Credit Money?
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What is the excess of public expenditure over public income called?

yya-8 T Wifcal w9 € ? (1]
What are Revenue Receipis?
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Write three diffcrences between expansion in demand and increase in demand.
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Public Goods should be Provi ! SOrEgy Hifau
= ‘.,\L‘d by the Government only. Why? Explain.
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Explain the difference between Revenue Deficit and Fiscal Defidt
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Write the causes of increasc of Public Expenditure in India (any ﬁ?""]'
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Write the characteristics of Monopolistic Competition (any four).
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Distinguish between Short Period and Long Period (any four).
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Explain the interdependence of Micro- and Macro-economics (any four)
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pistinguish between Centrally

Economy (any four).
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() wd=nfal = afisfos 15,000
(if) = 5,000
(iii) < 25,000
(iv) ==t 5,000
(v) 7caEd 1,000
(vi) wwa e fafEm 25,000

Calculate the National Income by the income method from the

following data :

Items

Expenditure
(in crorc rupees)

(/) Remuneration of employees
(i1) Rent
(iii) Profit

(iv) Interest

(v) Depreciation

(vi) Gross domestic inw’s‘mem
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15,000

5,000

25,000

5,000

1,000

25,000

[2+2=4]
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(i) & | 7ol 4,000
(i) T 700
(iii) o™ 1,300
(iv) =9 500
(vi) e o fafFm 1,500
(vif) 1% faeh fafram 1,000 ]
: th
Calculate the National Income by expenditure method from 1€
following data :
I[tems Expenditure
(in crorec rupeces)
(/) Salary and wages 4,000
(77) Rent 700
(1i7) Profit 1,300
(iv) Intcrest 500
(v) Consumption expenditure 4,000
(vi) Gross domestic investment
1,500

(vif) Net foreign invesiment

1,000

LT.0.



S—_ mmmw%?i'@lﬁi?nﬂwﬁmaﬁﬁm

6
6] [2-}-254]

What 1s Liquidity Loop? Explaiy with the help of diagram.
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Write the importance of Banks (any four).
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Write the sources of income from tax of State Government
(any four).
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Why Government Budget is needed to run the economy smoothly?

Explain. - https://www.cgboardonline.com
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Explain the mutual relationship between Marginal Utility and Total

Utility with the help of table and diagram.
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How are equilibrium price and quantity affected, when a consumer 'S

income-—

(a) increases;

(b) decreases? -
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For what purposes has the Reserve Bank been established? Explain (any six).
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OR

51 ¥ Hrdl 1 fafae (i o) |

Write the functions of Money (any S&X).
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Write the causes of implementation of Law of Demand (any siv).
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What is meant by Utility? Writ¢ any five characteristics of iy
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Write the characteristics of Imperfect Competition Market (any six).
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Distinguish between Market Price and Normal Price (any six).
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What precautions should be taken while calculating National Income

by Expenditure Method? Write.
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Explain the importance of National Income (any six).



